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Question Number : 1 Question Id : 7164472401 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What happens to the S-P separation when moving/going from B to F?
B f0oc F & S6G05060/ DTy S-P 0655),06000 (R0800)9D 0 20meed?

Options:
It increases

1. v b dodHB00d



It decreases

2 " AT @%‘D@.‘}O&

It remains same

3 % ad oorl cotood

No change

A % Eiﬂ“ti)g &GOt

Question Number : 2 Question Id : 7164472402 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The number of neutrons in aluminium -27 is;
eoRag D0 27 e5° ) RGP Woay:
Options:

1. = 12

7 % 13

3 v 14

Question Number : 3 Question Id : 7164472403 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

CN~ and NO" are isoelectronic in nature.

CN- swdosn NO* 3“52_3533501'? DI TS,
Options:
True

1 v ;::ue:&_sm



False
2 " @‘&3@5&‘11)

Maybe

3' ® E‘_‘Juflﬁtﬁ:}al

Cant say

4 ® aﬁjﬁﬁ‘jﬂl}

Question Number : 4 Question Id : 7164472404 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The H-O-H bond angle in H30™ is approximately 107°- The orbitals used by oxygen in these bonds are best described as:

H30" ¢5°0 H-O-H 206 Eeo(erol odrrofed) 2oaoed 107°. & erorreres 582D EDOITN0D S55e0(esByEreSy)
&EH00TT Qe agoamgm:

Options:
p- orbitals

1. « p- Eﬂfﬁaé&”ﬁﬁh

sp- Hybrid orbitals
9w SP- 2DE 50 ErSy

sp‘z— Hybrid orbitals

3 x spz— DG 50, ErSy

Sps— Hybrid orbitals

A v Sp?- DA esOyereSy

Question Number : 5 Question Id : 7164472405 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



A 5-coordinate molecule will have the shape of:
5-Ee58:5¢5 eocarad) A30E), 560 QT E:0L000:

Options:
disphenoidal

1 = rf;ﬂ::ﬁa“mjﬂﬁ

trigonal bipyramidal

7 o DEFSO BOODES

square planar

3 x DOOD Fb

pentagonal bipyramidal

A % DORTHS BHODEES

Question Number : 6 Question Id : 7164472406 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

B2Br4 has plane(s) of symmetry than B2F4, which is planar.
6 eood B2F4 &) B2Brdes® Haovdrne re_ oeolen) &™) 0.
Options:
one more
1. = 08¢
two less

> % Ootdd @S%&f}

two more

3 % [alsTA%) QE{J&&T}



one less

4 v 2580 @53&5:}

Question Number : 7 Question Id : 7164472407 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The bond order in He molecule is:
He e9£20epe5°D 230657 Savo(erol e556):

Options:
l.v 0

2. % 1

Question Number : 8 Question Id : 7164472408 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The number of atoms of iron in the ferrous state of haemoglobin is:
EO PR LLEALS! B8, DO (e5%53) ?gi&eﬁ& DOD OINE), DODTEDLDR DO:

Options:

1. = 1

-

2. %

Question Number : 9 Question Id : 7164472409 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The colour of hemerythrin in the oxygenated state is:
es3\@D0E (984508 %@@6 F e aar) 0%08), CorD:

Options:

1. = Rlobre))

Violet-pink
7 @ Garr-rberd)

Blue
3 % Deo

Colourless

] = Gorb Gareho

Question Number : 10 Question Id : 7164472410 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The metal present in Hemocyanin is:
b

PRI &) &'ro:

Options:
Copper

1. v oh

Iron
7 % DO

Cadmium

3 % deé’a‘ho

Magnesium

4 % Eﬁgﬁlmc



Question Number : 11 Question Id : 7164472411 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Myoglobin is found in:
DT DD HDS® ST derdod:

Options:
Muscle tissues

1. v So&o Searen

Blood cells
7 % 05 Seaen

Blood serum

3 = Ez_gﬂi 260

Veins

4w oen

Question Number : 12 Question Id : 7164472412 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The number of polypeptide chains present in the human haemoglobin is:
AP rArf HOS" ey FIDRE Fevine Doay;

Options:

1. % 1

I

2. %

3. % 3

4 v 4

Question Number : 13 Question Id : 7164472413 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The complex [Ni(CN) 4]‘3_ exhibits:

[Ni(CN)41%™ 2o3e0(5m0n5y) B DEOY006:

Options:
sp hybridisation

1. % SP DRSS (080568s0)

Sp‘1 hybridisation

9 % Sp? TDEENS(R086000)

n:izsp3 hybridisation

3 % d?sp? 3DEEND (oE6E0680)

n:!s.p2 hybridisation

4. » dsp? TOEES(208680w0)

Question Number : 14 Question Id : 7164472414 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The axial d-orbital is:
03]“@303&5 d- Eﬂﬁaéﬁueﬁ
Options:

dxv
1. =



Question Number : 15 Question Id : 7164472415 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

[Ni(en);]*™ is a Ni(II)

[Ni(en)31%* 558 2s Ni(ll)
Options:

d8 complex

1 o 9 30(s0nsy)

d’ complex

9 d” 203e0(57005 )

db complex

3 4 d°03s0(zopsy)

d® complex

A x d> D0360(s70n5y)

Question Number : 16 Question Id : 7164472416 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The mobile phase of a chromatography is made up of:
& e e 0T0%), D0DS 33 OIF  rTFodosetod:

Options:
solid and liquid

1. % D0do DBt Gado

liquid only
7 % Gdo g



liquid or gas

3 ¢ G0 TTF TPaiDY

gas only

4. x SO SrE

Question Number : 17 Question Id : 7164472417 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Co5(CO)yg is an/a:
Co,(CO)g 90 2.8:

Options:
orange red solid

1 v B0 DA m.{au}mgo

vellow solid

dark blue solid
3« S0CHE Deo D0DDEGo

yellow liquid

4 % D0 @do

Question Number : 18 Question Id : 7164472418 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

[Rh(CO)4]" has structure.
[Rh(CO)4]" D7) BEATD) EDA &od.
Options:

linear

1. « dow



square planar

9 g DO Fb

triagonal

3« 63T 965

tetrahedral

4 % S0 (BErarE-e)

Question Number : 19 Question Id : 7164472419 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a Tebbe’s Reagent?

SobHareded” 38y a30s), @063 (D¥5P0%0) DO?

Options:
1 R, {CjH_-:, ]ETECHECIAI(CHS }2

2 ® {CHE}ETiCHECJ_Al{CHE]E
3 ® {ijH_ﬁ]ETiCEHzClAHCHB}E

4. % {CH3 ]ETIEHECJ_AI{ CEH5 }2

Question Number : 20 Question Id : 7164472420 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

How many significant figures are there in 8.0600 = 10%?
8.0600 x 10%e° D) DI ﬁmo?w(ﬁjﬁﬁb} €T 0007

Options:

1. % 1



Ln

4, v

Question Number : 21 Question Id : 7164472421 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a feature of carrier gas used in gas chromatography?
300 OS° gD &S a5 eenairfos 50006 TP CINE), VEE0 B TE?

Options:
It must be chemically inert

1. % @O CFroLIETT BETT &otd

It should be suitable for the detector employed
%> % 20 DAT CHZOK esuETUTT oD

It should not be completely pure
3 v b o ‘Jaﬁﬁtburw oS

It should be inexpensive

A % A0 SO eord

Question Number : 22 Question Id : 7164472422 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The composition of the solvent in isocratic elution in HPLC:
HPLC &" 808 JdeniD(=wdo) &5° groado B8 S0 2D (Rox00):

Options:
continuously changes

1. & Doosco ardadod



is always constant

I DREDYET® 26O E081300)

changes step by step

7 « GFe) O TN

very slowly changes

4 o W K}&l‘r&&ﬁ“ e od

Question Number : 23 Question Id : 7164472423 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the change in internal energy AU for a system that does 70 J of work as it absorbs 45 T of heat?
45 J &ardy Faosespad 70 J 0 89 DFORD 00 33 AU &S° 20etdy DDE?

Options:
1. % 1157

D % 25]
3. v 257

A % -115]

Question Number : 24 Question Id : 7164472424 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Calculate the KE of 2 mol of gas at 150 °C.

150°C ¢ 2 Zures rr“zgfo cﬁné& KE &0 ejéboﬂué.
Options:
1 » 8657825%10 erg



9 & 8150658x10  erg

9y 8985245 x10 erg

4. » 8729700x10" erg

Question Number : 25 Question Id : 7164472425 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

0.410 mol of a monoatomic gas fills a 1dm® container to a pressure of 1.013 MPa. It is expanded reversibly and
adiabatically until a pressure of 0.1013 MPa is reached. Which is correct?

2.8 DrSe9e DS arainaY) 308 0.410 a7 1 dm? 03620 1.013 MPa Haarda Dospnevod. 0.1013 MPa
G308, DEDo DD DOL Qb S§ATETE Swdain ?gﬁ%&jﬂm DHBLH. DA LDTHE?

Options:
1. » T2=421.28K

Y @ W=-923.7]

3 y Tp)=280K

A & W=-121

Question Number : 26 Question Id : 7164472426 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When a real gas undergoes change in state from 6 atm.5/ to 2 atm, 1/ AU=10[ arm. Calculate AH for the process.

TP arainay 6 atm, 51 fuod 2 atm ?g@éﬁ Q0P SRR a0dosw 1 AU = 10 atm e00F, H3oH Edo
AH & Gé&oaoﬁ.

Options:
1.+~ 18



3 % 40

Question Number : 27 Question Id : 7164472427 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which one is NOT a type of the internal energy?
29080 33 050 5°I6 IO?

Options:
Energy arising by gravitational pull

(DA EGE 2D PTG my a00); 35
1. o 5 = .5 ;) ol é

Nuclear energy

7 % 96D BG

Rotational energy

3w B0 33

Vibrational energy

4w S0DD 3

Question Number : 28 Question Id : 7164472428 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

For a gaseous reactiond )= 3By — 3C ) ~ 3D(g). AEis 17 kecal at 27°C. Assuming R = 2 cal K-I mol-1. the

value of A H for the above reaction is:

Ol ‘Q{a;ﬁc&é A @,}»L 38@ S | [ @ * Jﬂ(g}__ 5o 27°C DG AE 17 kecal. R = 2 cal K-l mol-1 = &7, 2
DSBDEFE AH Dewad:
Options:

1. ® 15.8 keal

? « 18.2 kcal



3 % 20 keal

4. = 16.4 kcal

Question Number : 29 Question Id : 7164472429 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which among the below-mentioned gases has more IE at 298 K?
&b DB DY aroinanees” 298 K DG D [E &b DH?

Options:
1. = ©2

? % He

3. v O3

4 = Xe

Question Number : 30 Question Id : 7164472430 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Electrolysis of a solution of SO 4‘2 ions produces 3303_‘2. Assuming 75% current efficiency, what current should be

employed to achieve a production rate of 1 mole $S,0g per hour?

SO4 2 w0l @radroe dhug), DB S;0g 2 & &d 31008.75% Lawe Fge D) &R, o 1 2
$;0g £83D 50 FHOIDS Jod STotia EDAIrRoTd?
Options:

1. % 433A

7P« T13A

3. % 352A



Question Number : 31 Question Id : 7164472431 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The oxidation potential of a hydrogen electrode at pH =1 is (T = 298 K):
pH = 1 o¢ rEad JOFE 03s), es8yE6ee SFeQoes (T = 298 K):

Options:
1. v 0.059V

7 % 0V
3 % —0.059V

4 = 059V

Question Number : 32 Question Id : 7164472432 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the amount of energy to be supplied to convert 22 g of ice at 0°C to water at RT 25 °C. ﬁ.HUﬁESiof 6.01KJmol !

==

\ =58 o |
C.p_hquid—4.18ﬂ& 2

0°C g 22 77 avoend RT 25 °C ¢ DT A0y md8 DODT° Sodobd 38 Joo? ::«.H%ogm(mmy
6.01KJmol ™", Cp, 550 = 4.18 JK g

Options:

1. « 1431

3. % 14.73

A % 1333



Question Number : 33 Question Id : 7164472433 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When do the rate of reaction and the rate constant become equal?

D305 Be Sdoin Gew f{l_}amos::. BN VAT €0Er007?

Options:
Whent=20

1 = t = 0 &)y

When concentrations of all reactants become equal

9 v Y ﬁaﬁr%nﬁb(eﬁi}éwgﬂdsﬂm} TGN DATDOTT DTDDEN D

When the reactant and product concentration become equal

3 e Soirse0S0(Danrrgotd) udotin GETPOO TFPES DOFAOTT 62 DD

When the concentration of reactants remains constant with time

4 = 930Irs 650 (B0 Goth o TrES, Davasod %‘rﬁ@ﬂ“ &) YD

Question Number : 34 Question Id : 7164472434 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a solution of the differential equation v™( };J—kzy{x} =0?

308 o6 DB gD DOm0 v (x)+key(x) = 0 OT0E), S BP0 7?

Options:

1. = exp(—ikx)
7 exp(—kx)
3 % Sinkx

4] = Coskx

Question Number : 35 Question Id : 7164472435 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
A first order reaction completed 99% in 22 minutes. How much time is required (in minutes) to complete 99.9% of the

reaction?

DY 9g6 BT LS (DE Lo HASGS) 22 D" 997 rgonod. 99.9% DASGH W8 BODEEIS o DaLODO
(DXS") eadc0?

Options:

1.«

L]
LS ]

? % 38

4 = 48

Question Number : 36 Question Id : 7164472436 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Electrons are during the oxidation process.
e554E0¢c2 HSOT VDo1S” oz E08T°00).
Options:
paired

1. &= =aarr

remain constant

2 % %-_J}IGDTTD

lost

3 7 g E'f)&;jDJJ

gained

4 x Tocea (Fond)

Question Number : 37 Question Id : 7164472437 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66

Which of the following will NOT bring the deviation from the Beer Lambert’s law?
308 rOS" DO DG ©roB§ Danavo ok DS (EHEHHS ) XD EITC0 ?

Options:
Association of analyte

1 = DTS CB0E), e9eF eodbn® (Roerodan )

Monochromaticity of light

I 5P08} G308), Dgag@(m.ﬁgmeﬁﬁa&}

Dissociation of analyte

7 « RDTES 030 D[ (ATDAIHND)

High concentration of analyte

4 = I TSLN] cfmsb eadE TPEted

Question Number : 38 Question Id : 7164472438 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which one of the following will be added to olefins to prepare mercaptans?

mo*%.gﬂémm ?»:ncgo DO 80HTNS° DO LTnoes) &G orecdod?

Options:
1. = H

? % o))

Acetylene
4. x DS

Question Number : 39 Question Id : 7164472439 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Which pigment is responsible for vision through photochemical reaction?

5708 GIFO3R DA TP(T° a3 &) DEED0 EPEE HDaP0d?

Options:
Transducine

1 » SNORPRS

Retinol binding protein
7 % BSed Bocof D

Rhodospin
q , BEBS

Arrestin

o

4. = @G;g%

Question Number : 40 Question Id : 7164472440 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When N>O5; decomposes to 2NO, and half O,, if the rate constants are 3.45 x 107 at 27°C and 6.9 * 10~ at 67°C,
then the activation energy will be:

Bew oroseen 27 °C og 3.45 x 1072 audaw 67 °C 5g 6.9 x 1072 ey NpOs 56 2NO, sbos 2o O;
£ L0100 BoEE0D, DYED &dad 33 (cIrdDad DY) Qe Eotnod:

Options:
1. % 122.5KJ
? % 116.5KJ

3. v 1125K]

A % 113.5KJ



Question Number : 41 Question Id : 7164472441 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A particular reaction at 27°C for which AH > 0 and A S > 0 is found to be non-spontaneous. The reaction may proceed
spontaneously if:

AH> 0 awdoiw A >S > 0 e 28 DB PBG] 27°C DY &5 8 CardorT ST OLIEH0. 2.5DF DG &
E’oocﬁcﬁaoeﬁa E‘_FS'?Q(IBSDTP’ B Hrreod:

Options:
the temperature is decreased

1.« o0 opaiom

the temperature is kept constant

o o o
7 egaiﬁga 00T €000

the temperature is increased

3 v egﬁg@ DBASNCD

it is carried in open vessel at 27° C

4 « Qb 27 ° C Hg BOD0IDD) @S S0P

Question Number : 42 Question Id : 7164472442 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
If M+R —» P and N+R —» P, then what will be the ratio of k;/k, when 94% of A reacted and 50% of B reacted?

M+R —— P awdasn N+R . P oo, 947 A De3a0] Sodned andasw 507% B Daad) Shaine ki/k;
DENB IO &0tk ?

Options:
1. = 2.46

7 % 0.16



A v 4.06

Question Number : 43 Question Id : 7164472443 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

For a reaction A to B. the rate constant is 4.5 x10™ min L. If 1 M is the initial concentration of A, then what will be the
rate of reaction after 1 hour?

A 006 B 005 28 DA, e Jorotio 4.5 x1072 min” . 1 M 050 A aig), &roos meEe eond, 1 (ot eomge
DBIC] Tew Dodd &oewod?

Options:
% 2.4236 % 10> M min !
1.

D % 2.8543 x 10 M min~!
3 3.4353 x 10 M min !

A % 24123 x 107 M min}

Question Number : 44 Question Id : 7164472444 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What happens to the rate of reaction in second-order reaction if the concentration of reactants is doubled?
BoIrZoeS (9DI0sOSmen) TPES 50 0B Bod-2306 g&maﬁ“ DAS0] B0 DD @O0 ?

Options:
It gets halved

1. & @b 2o HB0E

It increases four times

? @ Qe Trend 0L DAME0

It remains constant

7 EAA -?&EIGGTT” 082008



It is doubled
A % 26> B0 I HBID

Question Number : 45 Question Id : 7164472445 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The mode of radioactive decay of 2* 11INa to stable isotope is:

Do oD 24 11Na aiog), BeairTre s gabo chog) JE:

Options:
a0 emission

1' % ﬂu-};l‘};:tﬁj (%f_{:}?ﬁﬁ}

[ absorption
B e

y absorption
3 Y e

B emission

4' W B Janae (n%{‘:_lj“ﬁt]}

Question Number : 46 Question Id : 7164472446 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Same quantity of electricity is being used to liberate iodine (at anode) and a metal x (at cathode). The mass of x deposited is

0.617 g and the iodine is completely reduced by 46.3 cc of 0.124 M sodium thiosulphate. Find the equivalent mass of x.
a3 (airsSE D) DB 2,8 DS x (=8 & DG) 2 DS BOIDWD 2.8 Do DD
&émyﬁ@aﬂim.

DED0 DM X Qaf:ao“% 0.617 g sudoiw esdirdd 0.124 M D¢ oo @cﬁﬂoej:]eﬁ Ga08), 46.3 cc ANNeES) elgg
SISO, X IS, SOOI BT ST doC.

Options:

1. = 213.5



7 « 1082

3. % 111.2

A % 3106

Question Number : 47 Question Id : 7164472447 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

During the conversion of QEUE?’S to Esz‘z 14 how many alpha and beta particles are emitted?

92U238 coC. 87 Pb2!4 = 5578 Poanotoes, D) 5Ty SOOI e SEFen DGO ?

Options:
1. = 10

Question Number : 48 Question Id : 7164472448 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The dissociation constant for CH3COOH is 1.8 % 10—5 at 298 K. The electrode potential for the half-cell:

Pt|H2 (1 bar) | 0.5 M — CH;COOH, at 298 K is (log 2 =0.3: log 3 = 0.48; 2.303RT/F = 0.06)

CH3COOH Sos dﬁbﬁmﬁx‘qé(é’);nma‘)) ?&:301050 298 K ¢ 1.8 x 10-5. @g—mmo(‘ebﬁé 20e5): Pt | H2 (1ex@6) | 0.5
M - CH,COOH E65> 298 K 056 Dagé ﬁ“éﬁé)a:be_"i: (log 2 = 0.3; log 3 = 0.48; 2.303R7/F = 0.06)

Options:
1. & -0.3024V

7 % -0.1512V



3. % 403024V

A » +0.1512V

Question Number : 49 Question Id : 7164472449 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

We have an oxidation-reduction system: {Fe(CN]ﬁ]E_ +ie= — p [PE(C N]6]4_: E®=+0.36 V. The ratio of concentrations

of oxidized and reduced from at which the potential of the system becomes 0.24 V. is [Given: 2.303RT/F = 0.06)

DODE) 9BECTr- SOVECE DYDY [Fe(CN)¢1>™ + e- —, [Fe(CN)g]*™; 2 = +0.36 V &ob. D50 0008,
TBY00S 0.24 V' eacldy 316 e58450e0 200050 Fobsorre mrado J0nD: [2.303RT / F = 0.06 m @axeddd)

Options:
1. = 2:1

[

? % 1:

3.o0% 1:20

4« 1:100

Question Number : 50 Question Id : 7164472450 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Same stock solution of CuSO,4 and ZnSO, has been used by two people. The emf of one cell is about 0.03 V higher than

the other. The concentration of 0.5 M of CuSOy in the cell is with higher emf value. Find out the concentration of
CuSOy in the other cell (2.203 RT/F = 0.06).

CuSO4 awdos» ZnSO, a3g) @8 Fgré TuFd D Rgm Sf$rD EDOIFHOTPM. 2.8 Tweo dIng), emf TS
ot3 0.03 V 5 . $000085°D CuSOy4 6308 0.5 M red 0965 emf Dendd eotnod. 088 D08085°D CuSO4
OO, TPEBRD S0 doc (2.203 RT / F = 0.06).

Options:
1. % 025M

7 % 020M



3. ¢ 0.05M

A % 0.15M

Question Number : 51 Question Id : 7164472451 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The salt bridge in a galvanic cell:
208 TPergDS S &°D FG DE:

Options:
is necessary for the occurrence of the cell reaction.

1. & 208 BoIrEQ Dodidodt=DS ead00.

ensures mixing of the two electrolytic solutions.

9 & B0t DEVFACTNE TEEFL DI QTO00.

does not participate chemically in the cell reaction.

3 2005 BoIrED 5° O raDE o areSTHac.
, ot

does not stop the diffusion of ions from one electrode to another.

208 JOFE Dol WFE JOFTODH OIrY THDD BN

Question Number : 52 Question Id : 7164472452 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the mass of Cu deposited at cathode when an electricity of 2 F is passed through the CuSO, solution?

CuSO4 graeso oo 2 F Desogesoan E.’Joi).;‘}“&gjbci) sE8E DG DED0 900 Cu dBng); G077 Joeh?

Options:

It
3

[
B
o
&



377
227 g

9w 227

o Oh
o W
'|_,-| N
g

3.

l6 g
4. Wt 16@“

Question Number : 53 Question Id : 7164472453 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The expectation value of 1/r in the ground state of the hydrogen atom equals:
PE RS DODTE) B0E), Fo& 8 e5° 1/r OT08), 0T DeVd (;ngﬁgtqa arary) BN HiaTdo:

Options:
1. = 40

ap

b | R

3 % mc

4. « Vag

Question Number : 54 Question Id : 7164472454 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

During refining of Ag using electrolytic method, if 5 A current is passed for 2 hours, what will be the weight of 100 g
Ag at anode? (Consider purity of Ag as 95% by weight.)

DEIOLFD DHBD EDOIN0D Ag B8 SRLIDYED, 2 (ot aren 5 A 5805 & w0, airSE 9¢ 100 g Ag
eI Joes? (957 exchapndd Ag RN B DBriEdocsoc:.)

Options:



1 v 5758
67.58 g
9w« 67.58
53.85 ¢
3 « 53857
60.00 g
4. = 60.00rp

Question Number : 55 Question Id : 7164472455 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When 0.05 N CH3COOH has equivalent conductance of 7.36 mho cm? at 25°C, calculate K, ( # “CH3COOH = 390.70).

0.05 N CH3COOH , 25°C ¢ 7.36 mho cm? Soerjos m@é@(éﬁs@oﬁ éoagéb] 500 &)y, Ka & rigdoctod.

(A °CH3COOH = 390.70).
Options:

1 = 2.76x107

7 % 1.06x107

3 % 3.36x107

4.« 1.76x107

Question Number : 56 Question Id : 7164472456 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Under conditions of zinc deficiency, the enzyme aldolase is referred to as:

205 &°Do &JY b&i&@aueﬁé, €565° 0D 9D JoBDD QT ATDOLICIR0:

Options:



Apoenzyme

1' v E}ﬁsﬂ@&

Coenzyme

2 ) ® ggﬂg&

Holoenzyme

3 ) W B’fﬁﬁeﬁﬁﬁo@i}

Prosthetic group
A % TROS Do

Question Number : 57 Question Id : 7164472457 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What an inhibitor does during a competitive inhibition?
g £9358 (50 (SP00HHND @DND) oD 28 DB GS0(ANDS6) DD BRed?

Options:
It binds reversibly at the active site.

1 v ?© S0 d0 DBF0 DG B56Y(DBIG)T L0dRR.

It binds covalently to the enzyme.

7 % @O OBEDE DIVOTTEIOOTT L20BR06.

It lowers the characteristic Vmax of the enzyme.

3 % A0 JoFan g Vmax O£y Shaved.

It binds at several different sites on an enzyme.

4« 9B DoBESD DDG PITV DG L0BR0D.

Question Number : 58 Question Id : 7164472458 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



In which of the following cases are the bond enthalpy and the bond dissociation enthalpy identical?
308 e erol ro;}“&):j S0BoIL ero& éﬁﬁaﬁ)cﬁjﬁqﬁ[ﬁjmmﬁo] Qotﬁ“@h ;| ﬁocﬁo‘a@"& DETDOTT Gotron?

Options:
H - H bond enthalpy in H2 (g)

1 o He (g) &° S - 35 &0k Jowedy

O — H bond enthalpy in H2O (g)
2 H20 (g) &° & - S ero& Jody

C — H bond enthalpy in CH4(g)
3« CH4(g) & & - 305 ero& .;}OGFE}:I

N — H bond enthalpy in NH3 (g)
4 % NH3 (g) &° 25 - 38 ero& Joardy

Question Number : 59 Question Id : 7164472459 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The AHy of CyHg, C>H, and CgHg from the gaseous atoms are —2839.2, —2275.2 and —5536 kJ mol-1 respectively.

Calculate the resonance energy of CgHg, compared with resonance hybrid. The bond enthalpy of C — H bond is given as

equal to 410.87 kJ mol-1.

et Hoarrw ot CaHg, CoHy 080w CgHg 0308), AHy oo —2839.2, —2275.2 sobosn —5536 kJ mol—1.
BE AN (0T 0) 3DEE TFOY CgHg 0308, 8870y (90 c0) 33D G8) o0 C — H exotio d3ns), .Dot;ﬁ"&b

410.87 kJ mol—1.55 2aradorr Qa(eItdl.

Options:

1. = —+54.68 kI mol-1

? #% +36.85 kI mol-1
3.« —53.68 kI mol-1

4. % -63.65KkJI mol-1



Question Number : 60 Question Id : 7164472460 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

About 100 cm® of H ,0 is dissolved with 4 g of NaOH. The initial temperature before addition was 25 °C and the final
temperature after addition was 35 °C . Calculate the value of AH. (Consider the specific heat capacity of
water=4.2 JK/g.)

2oarm 4 g NaOH & 100 cm? H,0 €8026. S0nmds Swod oo &8 25°C Svdain S8 amTrs @d
eéi;g@ 35°C . AH Devoqw fdiodod. (D6 a0g); &)9@6@ &mgnﬁacl 4.2 J / K/ g Dbeitdossoc:)
Options:

1. v 42 Kimol’l

7 % 62 KJmoll

3 % 82 KJmol’l

4. % 52KJmoll

Question Number : 61 Question Id : 7164472461 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

At RT, an ideal solution is formed between CgHg and CyyHg Which of the following is NOT true with regard to this

reaction?
RT 2@, CgHg a0803w CipHg a06s DEotes Tarn (e560) Traeso) J0ycadood. S A0S Dotodod) S0d
65" D& Dao e ?

Options:
AG is positive

1. v BG 20

AS 0

surrounding

7> % ASes 5862 (2087080A8) = O



ASgystem 1S positive

4« BS®o F20S

Question Number : 62 Question Id : 7164472462 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A portion of helium gas in a vertical cylindrical container is in thermodynamic equilibrium with the surroundings. The
gas is confined by a movable heavy piston. The piston is slowly elevated by a distance H from its equilibrium position
and then kept in the elevated position long enough for the thermodynamic equilibrinm to be re-established. After that,
the container is insulated and then the piston is released. After the piston comes to rest, what is the new equilibrium

position of the piston with respect to the initial position?

Denay) ;mévgvcﬁ E0£5665° ardoio TPoinY og), Fosd ercio Fetaralon i caﬁfé,@amé Sa3 Doto (erids
mmmugo]ﬁ €000, Trainy) S6T a0 DRD QO OG0 B0DEIC0H. DRD VAT 7D DAVFO Qmo
Aod H cGo orqoe 23 Jgeid, e enids DESLOIB @éggvboaavaé BAD06 Jeoes” Gocertiaaood. es
BDDS, 50856 NTES Sobed, B VPN DGO BRDB0D. DPD DFNOVVAS DD BHIS, Jr002s ,gvao:}é
20820800 DRD c3g), §@ DTy gnsao DE?
Options:

The piston ends up 0.4H above its initial position.

1 v VYR D Fr60ds gﬂaﬁo gy 0.4 H 23 2000a00d.

The piston ends up 0.6H above its initial position.

- = o
7 DR T P00 fgﬂaﬁo 857y 0.6 H 2 d0bdanod.

The piston ends at its initial position.

& .
7 DO T Jrods g*’éoeﬁﬁ SODR0E.

The piston ends up 0.4H below its initial position.

4 x VYR T 608 gu;:m 857y 0.4 H S0t 0booed.

Question Number : 63 Question Id : 7164472463 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



For anhydrous CuSO4 & CuS0,4.5H;0, the heat of solution are respectively —15.9 kecal and 2.8 kcal. How much will be
the heat of hydration of CuSQOy4?

9050 CuSOy & CuSOy. SHy0 Fosh, gradeso 0108)) &xo @R —15.9 keal &0dasn 2.8 keal. CuSOy4 cxog),
2506 (PE0D) &0 Jod &otoh?

Options:
1. = —-28.7 kcal

? « —18.7 kcal

3 % —08.7 kcal

4. = +18.7 kcal

Question Number : 64 Question Id : 7164472464 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The element K crystallises in a bec lattice. What is the number of unit cells in 3.9 g of K {Atomic weight of K = 39.)

aorersEo K, bee eréds e5° ﬁﬁﬁégﬁ@}()é. 3.9 g K €§° osarde5 grre o) Jod (K OB0E), DOSTED 2PC0 39)

Options:

NA

1. =« 30

NA
? = 10

NA
3. % 15

NA
4, ¢ 20

Question Number : 65 Question Id : 7164472465 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



What will be the radius of an iron atom when it crystallises in a bee structure (if edge length of unit cell is 286 pm)?

bece Doﬂéeagmoeﬁﬁ D00 DOATEDD) mbeﬁégaoaé*@bm (A} D"éﬂ‘go D08 06008 (0TS DS GIE) oD T
286 pm esoad)?

Options:
1. ¢ 123.8 pm

7 % 128.3 pm

183.2 pm
3 = P

182.3 pm
4 = P

Question Number : 66 Question Id : 7164472466 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A metal crystallises into fec and bee with unit cell length 3.5 and 3.0 A”. What will be ratio of densities of fce and bee?

Q3eES 265 SFEs 3.5 swdoiw 3.0 AY & fee @wBotn bee 798 2.8 S50 93882000, Fee &wdosn bee
FroEse DS Jod?

Options:
1. « 1.259

3 % 1.789

I
2]
L
=]

4 =

Question Number : 67 Question Id : 7164472467 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In a mixture of concentrated H,SO,4 and HNO;, intermediate formed is:

FoB5e (52038 E) HpS0,4 a080in HNO3 D3530085°, D0ED @oeB) Eoses:

Options:



1 &% HESD._‘

P
2. % S04

3 % HONO3

4. » HNO3"

Question Number : 68 Question Id : 7164472468 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following metal conductors exhibit highest critical temperature?
308 &°5F TrEOS” IO (0% Dob ET I DOBYR0H?

Options:

1. %= Na

7 x Hg
3 « Sn

4. % Vv

Question Number : 69 Question Id : 7164472469 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

At what temperature does mercury exhibit super conductivity?
D &8 O JrEB00 9 TEPEEFD) DOYRV0H?

Options:

1. v 42K

7

2. %



3. % 10K

Question Number : 70 Question Id : 7164472470 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Diamond will be formed by the hybrid orbitals.

D0 TDE 50305y TET° IOEIB008.
Options:
1. = 2sp

Question Number : 71 Question Id : 7164472471 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What will be the radius of Na when it crystallises in bee lattice with a unit cell edge of 4.29 A?

4.29 A cfares 25 esocdéd HHL eredIDes” age?}égacaaﬁ@b@ Na o3oog), auéﬁvgn Jod e0t006H?

Options:

1. % 2684

? & 1.86A

3 % 3.68A

4 w 2.18A



Question Number : 72 Question Id : 7164472472 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A piece of ferric oxide with magnetic field intensity of 10% A/m and susceptibility is 1.5 * 10-3. What is the

magnetisation of the material?

20 08 £6 B0 100 A/m adomn girmdos 1.5 1073 59A3 BS w3 yE Mg, oo 2rdo God. HErgo
0T0E), 0D 0BECEs Joes?

Options:
1. = 15 A/m

7 % 150 A/m

3 % lL5SAm

4 J 1500 A/m

Question Number : 73 Question Id : 7164472473 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When 2 methyl butane is subjected to monochlorination, the number of chiral compounds formed is:
2 DB LSS DR EBRR & DB, Dﬁjdé D6& DRI VoD

Options:

1. = 3

L

2. %

Question Number : 74 Question Id : 7164472474 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the below will be the most basic in nature?
808 TOS” FEPDETT B[ TODDIO I&?

Options:
Benzylamine

1. v BOZODS

p-nitroaniline

7 % DATEIDD

Acetanilide

3w JORDDE

Aniline
4. % 005

Question Number : 75 Question Id : 7164472475 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Benzyl alcohol reacts with PCC to give:
BoBeS esey e R (PCC)E 365 280 HID @00d:

Options:
Benzene

1. = @D

Benzaldehyde
3 Bozrdzré

Benzoic acid

3 % Sodows airad

Benzoyl chloride

A % Bozraxe S04



Question Number : 76 Question Id : 7164472476 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When propene is treated with chlorine at 500°C, allyl chloride is formed as the main product. The mechanism of the
reaction is:

500°C o¢ EB& FFaddn edIrNoddN, g §0E PTrs eTm\ B80T I0YDB00d. Sofj(B0IrS) dhvs),
a0
Options:

free radical addition

1. % 2 TGCES 0EOD

free radical substitution

9 o D TESS DDROTED

electrophilic addition

JOFDOS dND

electrophilic substitution

A JOEDOS SEANSIALIESES

Question Number : 77 Question Id : 7164472477 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The nature of nitrogen atom in Quinine is:
3RS TR DODREY G30E), BP0

Options:
secondary base

1. = 8ocd &5

tri tertiary base

I v Q@g{mé AR



di tertiary base

3y & e3gond &5

mono tertiary base

4 % DS e:»gcm& AN

Question Number : 78 Question Id : 7164472478 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

How much will be the wavelength of an absorption band in the UV spectrum for the above compound?

D A w0 &0 UV ?obgoes‘“ Eﬂwhdﬁ{%ﬁ“qea} eFgo& 0308 @ﬁoﬁﬂ@gﬁo Doed ezotwodd?

CH,
Options:
1. %= 200nm

? s 215nm
3. % 265nm

4.« 240 nm

Question Number : 79 Question Id : 7164472479 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Ethyl acetate is obtained when aluminium ethoxide is treated with:
e9R1P(DAC0 ATZHE BIF SOV EDOITHODIDYE @B 935 Torercreod:

Options:
Propionaldehyde

1 = oo Qars



Acetal

Butanal

3 x mémawtﬁ

Acetaldehyde
A v et @:‘gﬂﬁ

Question Number : 80 Question Id : 7164472480 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When (-)3-methyl -1- pentene undergoes catalytic hydrogenation, which of the following is the result?
(=) 3-2086 -1- DB TERdAE FE2INID DIV, S0d TrOS” HOG0 IDE?

Options:
The product has (+) rotation

1 = @mg(&@:}&@o]éh}gmmc 208008

The product is with retention of configuration

@mg(aw‘;}&@o} SN0 G0 (803D )& e0t006

The product is optically inactive

3 o LN e95e5 (a0 JT° S0ITPCaPBOTT £00000

A racemic mixture is obtained

A % 8 8205 DFavo STocrcdaned

Question Number : 81 Question Id : 7164472481 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The lowest molecular weight alkane, which is optically active, is:

Sy BRIGOTT ST RO &0l e9d 35 & DOBTERD DY TS

Options:



3-methylhexane

1 o 3DoBSIES

2,3-dimethyloctane

9 % 2.3-220S &30

2,3.3-trimethylbutane

9 . 2330038 ergdd

2-methylhexane

4w DSBS

Question Number : 82 Question Id : 7164472482 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which compound is being represented here?
QE.E D DALTD0 SPDEDE?
()
P
N

Options:
Purine

1.« TPS

Pyridine

? % 0BED

Pyrimidine

3 ¢ DODER



Pyrazine

4w DOBD

Question Number : 83 Question Id : 7164472483 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A meso form is achiral due to internal compensation of optical rotation.
IS FEND(Eae Faneso) Ing), 0BG HB:C0(Q000) & SoDDIID) ST 2.8 DY a0 e)oed

Options:
True

1 v ;::]e:&_’gan

False
2 " @‘&3@55113

Can’t say

3 ® aﬁh:}ﬁ‘j&'fll}

Both
A % Bo&r

Question Number : 84 Question Id : 7164472484 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which among the following statements is incorrect?

306 DEEIHDE” DO DBSEL?
Options:
‘CF2 is more stable than :CCl2

1 :CF2 :CCl2 Zot ;)E‘.%aj 00T &otob
% &

‘CCI12 is more stable than :CBr2

9 :CCIZ :CBr2 o3 woorr &obtodd
% f



Singlet :CH2 is more stable than triplet :CH2
9 v ~o0e) :CHZ 33365 :CHZ 5063 ‘%}dﬂri“ =TANeIA

Singlet :CH2 has planar geometry

4 x ‘?\::oﬁﬁ :CH? @“65 Bﬁ“éﬂ)eo_a DA sotwodd

Question Number : 85 Question Id : 7164472485 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

On oxidation with TFAA, aniline gives:
TFAA & e53450630, @028 6D @Rood:

Options:
Dintrobenzene

1. = Goed’ B0

Benzene
7w Bodd

Diazo benzene

3 x &HOSTS BoES

Nitrobenzene

1 o DWTDoRD

Question Number : 86 Question Id : 7164472486 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The reaction-intermediate carbenes are produced from:

BOIT£D-9060) &0 S0y B ol &Syd Sabemro:

Options:
Diazo methane

1 % COE DBS



Ketene

7w 8e3S

CHCI;/C,H5ONa

3 x CHCI3/CyHsONa

All of the other options

4 v QE3G JDoadsen P_*)EJ;L

Question Number : 87 Question Id : 7164472487 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Acetyl nitrene not possible intermediate in:

ABS FE3S AAS ardds 20€8:H0HET 57¢%:

Options:
Reimer-Tiemann reaction

1. v O06-807S BoIrED

Hofmann's rearrangement

I % DEDLD OIE), é.aaogéoﬁ

L ossen's rearrangement

3 % PR 030 6&6083&0&5

Curtius rear rangement

4 = Qgcﬁﬁ} 53605&0&5

Question Number : 88 Question Id : 7164472488 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Alkenes can be converted to carbonyl compounds in one step with the use of:
DB EDOITHOD 208 (353 T AV ST DS DDV FHOT ATCNDIDY:

Options:



Wacker process

1. v 50 Ds0D

Oxymercuration- demercuration

€58 D), ?56‘&1&— 5-@@3555115

Hydroboration oxidation

3 « TETOD 93 DD

Wittig reaction

A % D86 607D

Question Number : 89 Question Id : 7164472489 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

1-Bromo-2,2-dimethylpropane will undergo the reaction.
1-e5°20° -2,2-20ae8 0 DASGIL S BP0,
Options:

1. «+ El

? % E2
3. % E2cB

/] = ElcB

Question Number : 90 Question Id : 7164472490 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Chlorine in p-chlorotoluene is replaced by OH when taken in NaOH (aq.) at 340°C. No such replacement occurs for 2,6-

dimethyl chlorobenzene.

340°C $5¢0 NaOH (aq.) & @3&0305):93¢80 p- SFE 0588 ' 85 OH o507 258 Tohaachehrod. 2.6-
BT TEB0ES FH0 eeroed 258 2388,

Options:



False
1 " @‘&3@50

Tre

2 v }Cje:&_sm:r

Can’t say

3 ® a;]a“}ﬁ‘jm}

Both

Question Number : 91 Question Id : 7164472491 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The reaction between butadiene and SO, is an example of reaction.
23° 5T RS SHBA S0, DEF DSBS (DSBS 5E a8 Gy dea.
Options:

sigmatropic

1 = L E5° 08

ene

2 % © (ene)

cheletropic

3 ¢ DOEDS

electrocyclic

A DOEDSS

Question Number : 92 Question Id : 7164472492 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Cycloaddition of ethoxy ketene 1 with cis- and trans-2-butene is:

cis- DB 1€7S) -2 275835 2 8¢5 1 WNE) DEVGAS:
Options:
2+2 cycloaddition

1 o 2+2REde0S

2+3 cycloaddition
7 % 2+3 PEIEHD

3+2 cycloaddition

9y 3+2 pEIEHS

4+2 cycloaddition

Question Number : 93 Question Id : 7164472493 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

How many d-d transition bands are observed for [Cr(OH,) ]** 2

[Cr(OH,)(]?* §00 QA d-d €7 ASDBXE) 230t Boaodadcheson?
Options:
1. 0

More than 1
3 v 1 €06 Dﬁ}baﬁ

Cannot be predicted

] % éroddan



Question Number : 94 Question Id : 7164472494 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following statements is INCORRECT regarding the structural features of the oxyacids of phosphorus?

A. Phosphorus can show +1 or +3 or +5 oxidation states in oxoacids.

B. Phosphorus is surrounded by oxide or hydroxide or hydrogens in tetrahedral geometry.

C. Phosphorus undergoes sp? hybridisation in first excitation state.
SO 5R Tk, €98 05T TBEy Aomee ©F ererdd H020500 80833 DA HOSIE?
A. 5D SEHATSS’ +1 S +3 S +5 @888 Deercdd Lreod.

o

B. 37080 BEr SO a0 ¢3S eE )6 S 336 S0 GRS 58050 Gonod.

C. OB B3 B85 VRS sp? IFDBEAS(0E85590)50 Sdyeh0d.
Options:

1. &= A

3.¢v C

None of the options

A % @ JdodSUr S

Question Number : 95 Question Id : 7164472495 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The structure of XeO,F, based on the VSEPR theory is best described as:

VSEPR ?;)Emjﬂo@o estyrGorr XeOsF; cﬁnﬁ& ﬂw&mgmo &9200TT € 206 Do bgoﬁm&o&::

Options:
a see-saw structure with O-Xe-O bond angle close to 120°

1 v 120° & o 0-Xe-0 ex06 Eraodf 2-Jr 0" £25500

a see-saw structure with F-Xe-F bond angle close to 120

2 x 120" & oo ey F-Xe-F eo6 Eraod - T L5500



3. =

a square planar structure with the fluorine atoms trans to each other

0 DEATENYH N 2.8cTVTEES 7S &S’ Goter 2.8 9ES TS Do E00

4, =

a perfect tetrahedral arrangement of substituents around Xe.

Xe D" DLENTDOE (1D T Deae)e A3 2.8 DOSYQ TET 3O 05008,

Question Number : 96 Question Id : 7164472496 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The M-C stretching frequencies of (i) [V(CO)¢]~, (ii) [Cr(CO),], (iii) [Mn(CO)¢]* follow the trend:
(i) [V(CO)¢]~, (ii) [Cr(CO),], (iii) [Mn(CO)4]* 011_)531 M-C ?gﬂuﬁ é’)‘é:@m&w 2od 80663D @aﬁbﬁéﬂm:
Options:

1. % i=ii>iii
Y % ii>iiii
3 % ii>iii>i
A v di=ii>i

Question Number : 97 Question Id : 7164472497 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following pairs is square pyramidal in shape?

306 2aee) DO cIGtR) DODE essetoed” eotodd?
Options:
1. = PCl;,Xe0,F,

2  BrFs XeOF,



3 x IF,,XeF,

4. = AsFs,BrFs

Question Number : 98 Question Id : 7164472498 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Iron sulphur clusters in biological systems are involved in
B aéﬁ”gmﬁﬁﬁj DD VNG SE S Sreotrom.
Options:

proton transfer

1. » Terdadd

electron transfer
St}gﬂ& AL

group transfer

3w PTR(IrD) 26D

neutron transfer

4w RS ATnY))

Question Number : 99 Question Id : 7164472499 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The structures of N(SiH;); and N(CH; ), are respectively
N(SiH; ), &08o3n N(CH,), OO, D7 LaEATTD AT

Options:
pyvramidal and trigonal planar

1. & DODEES ddosw B8 Freb



trigonal planar and pyramidal

9 o 850 06 Mdain HOMES

pyramidal and pyramidal
3 % DODES s0B0IL DODIEET

Trigonal planar and trigonal planar

1 = HFe Jrerd 2wBatw B Jrrd

Question Number : 100 Question Id : 7164472500 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Hemerythrin belongs to the group of

00 BS DXETVE BOAIE.

Options:
non-heme iron protein

1. v TR 26D TAS

heme-iron protein

7 % D065 FES

non-heme non-iron protein
3 % TOAPED TR-n0d TOS

binuclear copper protein
4 % & e Tof AN (BRorgdad =06 JTOS)

Question Number : 101 Question Id : 7164472501 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
In hydrated state, which of the following ions is expected to show the fastest exchange of water molecules?

TG DB, 806 a3e3¢T’ &) e0airid Ded e0eashedr BHS0STS S8)1HR TIHYECHA) erRKET) K0?
Options:



1. = Mn?*

2.‘\“-”’? CI.2+
3 % Fe?t

4. % v2+

Question Number : 102 Question Id : 7164472502 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

With which of the following central metal ions will ammonia complex exhibit a strong Jahn-Teller distortion?

£0O 2 VOO A ATVE eRTRACIT FBO(S°0 D)) DO 277Q-TDD DBFNET)
1058 0082
Options:

High spin octahedral Fe®*

1 = 20O OFES Fett

High spin octahedral Ru?*

9 % i 0D esgarEes Rt

Low spin octahedral I3

3 v S° 20D esgrarges Ir®*

Low spin octahedral Co®*

4 % &° 2D esgrarges Co*

Question Number : 103 Question 1d : 7164472503 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following is the correct statement about the one-electron reduction product of
[Ni(phen);]** complex (phen = 1,10-phenanthroline)?

[Ni(phen),]** maejo(snoggéb} (o = 1,10- Drogda) 3G, DO-JVTD BEED @ag (2.8-DozPd LoDECE
&EP\B60) (HB0D S0BTVS’ VD HELD DB? - -

Options:
Optically inactive

1 v e3008e5T S0I0P0aT B0

Optically active

% % €385 Acirdeo

Metal to ligand bond lengths are equal
3 % 20065 Aod Orrod erok (30650) FEanen DT €00

More symmetrical than the reactant

4 » ©DBAFsEE0BATrFo) $0T D0y FRH0 (AR EES)MT Goenod.

Question Number : 104 Question Id : 7164472504 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following compounds shows the maximum magnetic moment?
306 m&é@mﬂmeﬁﬁ 28 (10 DTy 5 mmoeﬁ(@mmﬁvbo@ ZPaDE0) &0 Arnod?

Options:
1 % KMnoO,

2 % K;MnO,
3 « K;MnCl

4. = KsMn(CN),

Question Number : 105 Question Id : 7164472505 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Which of the following complex ions shows the minimum intensity of absorption in the UV-visible region?

808 083 e0aSTIS DA UV- & yTcsd 10806 02518, S5(5%1e9) BowEy $R (565 DSB8 300H?
Options:

. [Cr@,0))”
, _ [Mn(H,0)]*

5 . [VALO)J™

4 . [Co(H,0) ]

Question Number : 106 Question Id : 7164472506 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The water molecules in the coordination sphere of Cu®*
Cu?* OT0E), DEVHLOD FroesD DB eendnen

Options:
are very inert and cannot be exchanged with the solvent

1 x T REOTP Goron DO TroSod HroyE SoLTaD

have an average residence time of less than a nanosecond

I PRIRE0E 508 L) D DD BREDY Bo £BA &otod

have an average residence time of more than one day

q 5 @8 B2 S0 DL D (16 BREDY Bo $HA &oeod

can only be exchanged at very high temperatures

4 x T 2953 egﬁ;‘gj@u DG TG ATBE BODOY



Question Number : 107 Question Id : 7164472507 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following compounds are optically active?
308 O DO eIRLSTT 303 IV Gotnod?

Options:
Dichlorobis(triphenylphosphine)nickel(IT)

1. = SSTOD (DI ara)S) ABS (In)

Chloridotris(triphenvlphosphine )rhodium(I)
7« SOEER (RSSO 2)8) 8&c%o ()

Cis-Dichlorobis (ethylenediamine)cobalt(III) ion

3 o VD-FEEDD (DADDASTNS) LoD (I1T) TS

Trans-Dichlorobis (ethylenediamine) cobalt(III) ion

A x EFSYBETDD (QHODATNDS) FerQ (1) eSS

Question Number : 108 Question Id : 7164472508 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following statements would be true for a complex of Co(II) if Ais 13,200 cm™
energy Pis 11,700 cm™* ?

! and the spin pairing
Statements:

A. The complex is low-spin.

B. The complex is high-spin.

C. The complex is Jahn-Teller distorted

D. The complex has regular octahedral coordination geometry.

A =13,200 cm™!, suboin f{}:ﬁ 2 o0 33(ondoh JR‘JQ} P= 11,700 cm™! esoad Co(ll) 01\)531 E)J@@o(s"o@é;})
2 ZaoerobHon) Sob ‘QSQJ{)EJ@G D6 Dano?

DSLDdeD :
A. Do3so (S“o?;géb) B SED ?;355.
B. dugee {3“03353) e9 06 :;_3‘*-:‘9\2&;]5.
C. do(zrops,) Db »d-83u6 D&5y0(AJ0k)

D. 20380(zm008y) &° Forom egrargs Feagdad o) eod.



Options:
Aand C

1. « Aoboin C

AandD
? % Aswdboin D

BandC
3 % Badoin C

BandD
4 % Bowbain D

Question Number : 109 Question Id : 7164472509 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Select the number of unpaired electrons on the transition metal, if its complex shows a magnetic moment of 4.90 BM at

room temperafre.

00 &0 9 o DFBo(sropsy) 4.90 BM Do) 55 anrdnots (0050508 ranso) SrnR, DBOGR
550 (EPQ0D 05N AGBBADD VT VoD JochEod.

Options:

1. = 2

? % 3

Question Number : 110 Question Id : 7164472510 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The molecular orbital configuration of the Re-Re bond in [Re, Clg]?™ is

[Re,Clg]>~ €' Re-Re 270&(200¢0) T3n0E), e0ead §8 5 €35y (55058 e38 265 528BAS) ;

Options:



1 = o?n*6'6*

2. ® JZEZé‘EaaZ

3 % oln?sin?

A v oim*s?

Question Number : 111 Question Id : 7164472511 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the correct order of infrared stretching frequencies v, of the following:

808 ¢35 YT )B% | VDO TS: Y8 vep TB0EY DB (ESrQ), oo d:

(P) Mn(CO); (Q) CO (R) HyB<CO (S) V(CO):
Options:
1. ® PZ}R:=-S_::=Q

2 % S®»P>R>Q

3 x Q>S>P>R

4 \f R:}Q}P;}S

Question Number : 112 Question Id : 7164472512 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Consider the following equilibrium reaction. What will happen when NaCl or HCI is added to the given equilibrium?
2+ - 1+
Co,, +  4Cl — |coal;]
(Palepink)  (Colourless) (blue)

S0 DRVBLB] DBDEHD 063000l ey Rawduefasy NaCl So= HCI EDDDINED DD BENDEBIEH?

CoZ + 400 = [coq,]"

(F8Fond  (Dgoire)
erd Gorbd) (=g (deo)

Options:
The percentage transmittance of the solution will increase.

1. = Drades0 OS5 208 FPB0 DWIDBO0D.

The percentage transmittance of the solution will decrease.

3" o530 cfmé& adrades Teddo eetood.
2 . ""&? B ity I,H]

The percentage transmittance of the solution will remain unchanged.

3 % Drades0 OS5 2R0Es F°B0 OIP0D.

4, =

The percentage transmittance of the solution will first remain unchanged then start increasing.

Tred£30 OJ0DS) R0E8 FPE0 00CR) IR0, Bars DML,

Question Number : 113 Question Id : 7164472513 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which is the correct increasing order of CO stretching frequencies for the following species?
308 agro o CO Roh ra:parie 0Ig) D0 es8sre 500 267
4) [Ti(CO)e]*~  B) [V(CO)]™  C) [Cr(CO)¢] D) CO

Options:
1.« A>B>C

LY
W

D

2.v D>C>B>

=



3. # AB=D=0C

] = D=B>=A>C

Question Number : 114 Question 1d : 7164472514 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
A Statement is given, followed by a Reason and an Assertion. Read them carefully and select the most appropriate option

with regard to them.
Statement: The characteristic spectroscopic feature of the quadruple bonded [Re, Cl;]?~ is a strong roval blue colour.

Reason: This is due to an absorption band in the visible region due to excitation of an electron from ¢?m*6% ground state

to a?m*616*! excited state.

Assertion: This transition is quantum mechanically allowed.

28 5°0es0 a0doi 28 :3'91),93@“5505 2.8 DO QHOEICID B 2GBT EDed D0botn °BS Doerodod) T
Dot docEod.

DD IA0HS eodo [Re,Clg]*~  cing), FErds 9 E0) D5 oo RN TPoNES Do GorD.

w6e0: 0 87 Tok RS wod o’nt 6T edee 2B Jozd edaso Jabco HY 56 Frodod"D
9_9339‘3655(%‘5‘&193) erjol HDS =0060. -

QIyBarggor & ErOVIR(D0DGR) B7(ote DTPILS T BA0DE0D.

Options:
Both Reason and Assertion are correct.

1 = 5°0£80 a000ID DINBTrE]0 ot DODD.

Both Reason and Assertion are incorrect.

2 % Se0E0 adosD S%’theja“%n ToCr &)y

Reason is correct but Assertion is incorrect.

3 v 5°0E30 DR 5D DANBEf0 Sy,

Reason is incorrect but Assertion is correct.

4. = 5°0E30 S5y 570 DINBTE[0 DJIO.

Question Number : 115 Question Id : 7164472515 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Which of the following electronic transitions corresponds to the lowest energy band in the absorption spectrum of

[Ni(en),]%* ?

[Ni(en),]?* a8, @ajﬂ;){‘jgcf)(%ﬁam) ?\}Déoéﬁ & 300 OIS LN (HBDGHeD) e5° D& B O 33 ePOEDH
29ALMDEOTT &otwodd? - -

Options:
T E ‘A,

1. v : g

2 3Tlg(F)<:—3"zf&l,g

§ 3T]g(P‘) <—3Azg

3.

4 4
4 e AL,

Question Number : 116 Question Id : 7164472516 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The ? E, «——— ‘A, ¢ transition in the electronic spectrum of [Cr(NH3)6] occurs nearly at

[Cr(NH3)6] 3308y DTG DY F0S 2E, «—— *4,, [E7)ASH8SES) o) 58
HOBDVOA.
Options:

1. %= 200nm

Zg

3 % 450nm

4. « 650 nm

Question Number : 117 Question Id : 7164472517 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Identify the correct pair of complex in which d-d transition i1s NOT possible.

(A) [MnO, | (B) [FeCL]
(C) [Cu(1,10-phenanthroline),|” (D) [Fe(CN),]*

d-d (£ IASEDBRED) A0 57 OB 2365 570 T (A FH0) D B80S0

(A) [MnO, | (B) [FeCL [
(C) [Cu(1,10- v0g95),]" (D) [Fe(CN),]*
ptions: _

1. = Aa0doin D

Aand C
? « As0Boin C

B and D
3 % Bawbain D

Cand D
4 % CaoboinD

Question Number : 118 Question Id : 7164472518 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following statements is FAL SE for gel permeation HPL.C?
25 DB, 0ND(F0r10Dd0) HPLC 800 3065°0¢5" I& a2ny?

Options:
It is used to separate polar species.

1. % D @00 DH DOLEDS O GHOIFHOSLEDB0D.

It is used to separate non polar species.

? @ G2 Cagred PR DM oIS 9 &HcIrfodiecoeiod.



The separation is based on the size of the solute particles.

7 & N0AS(DYGHESeasdn) (Tadea EeTed HBNTE0 R BT BN OENOE.

The separation mechanism is sieving.

4 % NDTASEDYGHELBE0) G0 HCo8es.

Question Number : 119 Question Id : 7164472519 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Consider the following equilibrium reaction. Which of the following statements is true about the percentage absorbance of

the solution if Coicj is added in the solution?

CoX + 4NCS == [co(Ncs),]”

aq

(Pale pink)  (Colourless) (blue)

308 RVFO] DASGERD HDBIBood. oS’ Colf 2eBaLeED 30d HSLDOS” grao oG], FiEs TS0 o)
D8 Dano?

Coll + 4N == [co(Ncs),]”

aq

(D000 (dgoare) (Do)
(erd) Gord)

Options:
The percentage absorbance of the solution will increase.

1 v TR0 308, Fam 200 DOMDE0O.

The percentage absorbance of the solution will decrease.

I % TR0 308, Fam T0 BBO0O.

The percentage absorbance of the solution will remain unchanged.

3 « TR0 308, Fam To0 PO,

This cannot be predicted.

4. & abd esarosTaw.

Question Number : 120 Question Id : 7164472520 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Mark the major product in the following reaction.

&6 1808 DBE:S (DS e O ), HOohodk.

O
-

2) H,0*

Options:

OH
HO

OH
HO

OH

OH
H

S

3.

HO

4,

Question Number : 121 Question 1d : 7164472521 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In the IR spectrum of maleic acid, the carbonyl absorption band appears at:
2798 cird aag), IR ::ngoeﬁﬁ, 583 DS e2e Ty (F5aa) erjols @E) € SV

Options:
1 « 1702cm™?



7 x 1730 cm™ ()
3 % 1680 cm™!

4. % 1650 cm™

Question Number : 122 Question 1d : 7164472522 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
If the solution of a compound showing intramolecular H-bonding is diluted, the concern & value (chemical shift) in H-NMR

QOEPRFTE[RE H- £305r2)y 30t D)o dIng), graeeo S8Aeextd, H-NMR &° £:46y 6 Densd (6700
070N )

Options:
increases

1. & oo

decreases

7 % @fﬁb@oo:ﬁ

remains unchanged

3 ¢ DD AFGLEE 98T Eotod

is unpredictable

A % élroddan

Question Number : 123 Question 1d : 7164472523 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In mass-spectrometry, cresols form a very intense (M-H) peak due to the formation of
ArR-TNE 06, D0yEe0 DR FISy e BHRR (M-H) 2a60(05)D Doydarow.

Options:



tropylium ion

1. % SO0 90Ird

hydroxy tropylium ion

I v TESY FODoHD aIrd

cyvclooctatrienyl cation

3« PEUTOIS 300

hydroxy cyclooctatrienyl cation

4 x TS Qgﬂgﬂgf}eﬁ 200

Question Number : 124 Question Id : 7164472524 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Identify the compound from the below mass-spectrum.

Fhbundance Scan 2108 (15%.691 min): 800L.D
14000 4

o

]
12000 4
10000 ]
8000 ]
€000 ]

39
4000 4

&5

2000 2 5 L
18
- PR l’ .-.I.I.ll.l.l.ll 41.!53-..1..3]..1:.. ..?!1-1:'.. | T. e e Lo B Aot
2> 2% 30 3% 4D 45 S0 %% 60 6% o 73 A0 8% 9b 9% 100 10% 110 115

OO DPD-F50 oG VT (DBocdod.

- ) Scan Fi08 (19.691 mim): 600%.D

140004

g

12000 4
10000 4
B000 4

£000 4

3
4000 4

2000 ] 51

Iy [ 53 b 5 L as pa
"

£y ! it |
hﬂ"&'llﬁ"ﬁ"ﬁ"W"ﬁ"‘bH"i‘.-:"'sb "31-.‘"1'41&“1'65"{{&"{{5”‘

iz

|
i | .-.=.|.1.'.I.|
95 4o

s e @

Options:
Toluene

1 v 'E'SOUJ“?SE)

Phenol

Xylene

Cresol

=



Question Number : 125 Question Id : 7164472525 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In mass spectroscopy. propargylic cleavage is a most significant fragmentation mode in
SO SESNHpELR & Tarods 858 mrer D ) 0800 ArE.

Options:
alkane

1. ® F:j'e'?a,‘%

alkene

% % HE}ET;E]

alkyne
3. & Ej'g___.’?_’:%

dlene

4w D08

Question Number : 126 Question Id : 7164472526 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following could NOT be the value of molar extinction coefficient € due to forbidden transition in UV
Spectroscopy?

UV 2087 0e5° DG EPNDOD (DBDGD) SO Sob TS’ IO e, Dewy MEeso € TS, Ded s ?

Options:
1. = 10

7 % 100
3. % 1000

A. » 10000



Question Number : 127 Question Id : 7164472527 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Identify the compound on the basis of the following near-infrared 8§08 HAD-DTSea ) §o escrdorr

spectrum. DT H8o0B0dk
100 - 100 -
80 4
90 - o
80 - = 5
F 704 ey
§ 60 - ?% b
: S
L] 4
£ 50 u§
E Q 30 g
@ 40 - .
g € 20-
F 30 B
20 - 0 — e
10 860 860 1060 1160 1260 1360 1460 1560 1660
BGo0 SIS HTAT )
i B (wbep)

860 960 1060 1160 1260 1360 1460 1560 1660
Wavelength (nanometers)

Options:
Methanol
1. % D0SS
Ethanol
2. v 635
Ethanal
3' % QGred
Glycol
nseed
4 = ;’:Eu

Question Number : 128 Question Id : 7164472528 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following nuclides produces no NMR signal?
308 APBES” D & NMR 207y 5 &G SJron?

Options:



Carbon-13

1 » S65-13

Oxygen-18
2 o e35yo -18

Phosphorus-31
3« SFR}DGE:- =

Chlorine-35
A % §En.% -35

Question Number : 129 Question Id : 7164472529 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The reactive intermediate involved in the following reaction is:

O Cu, PhH, reflux O
or Ag(l), THF, 45 °C
N2

97%
S08 DASOES” JrH°RY BOIrSD @oed) Eate:

O Cu, PhH, reflux O
or Ag(l), THF, 45 °C
N,

97%

Options:
a carbocation

1 = 28 Snﬁ“aéaﬁ)



a carbanion
2 % 2.8 Hnﬁamcm.%

a carbene

3 v 228 Snﬁar%

a carbon free radical

4 % @ETOYD D TALS

Question Number : 130 Question Id : 7164472530 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Et A
@ * \:\ — What is the major product?
COOMe
Et A
@ * \:\ TP Lowasgane?
COOMe

Options:

O“'“'

1. = OOMe



)L COOMe

Et
/ COOMe

Question Number : 131 Question Id : 7164472531 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Identify P and Q in the following reactions.

/
NH,  NaNO,, HC! -
Jeai= i

COOH mild base

&8 1808 |HBHELS P 0B Q @6 HBotdod.

z
NH,  NaNO,, HCI e
el

COQH Y =*

Options:



N2 ‘¢l

CODH CDDH

3. P "
o Tae
COOH COOH
4'$g P Q

Question Number : 132 Question Id : 7164472532 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Choose the correct pair of reaction mechanism and resultant product for the following reaction.

S08 DABC] E0 DT PAIG) DTFR0 DO0ID DIG T OS 28 JoE ol

N NaOEt

T

Nf Cl EtOH, A

Options:



2.

@jj
=
N~ "OEt

by benzyne mechanism

@\/j
Z
N~ "OEt

Ho&d sTA20 ~Ne

L
=
N OFt

by addition elimination mechanism

L
=
N OFt

S0P BRIV XL WSRO0 T

I
e
N™ OEt

by S, 2 mechanism

(.

S)i2 dosedo &(Te



OEt

g -
o
N
by benzyne mechanism
N OEt
~
N

SoR D BT &eqo®

4 %

Question Number : 133 Question Id : 7164472533 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following sets of atoms is NOT found in alkaloids?

E_FE_JETEJ‘?DJJ{;}E_&& & 806 NOSATrrNLET DE a0 Heacicn?

Options:
Carbon, Hydrogen, Nitrogen, Oxygen, Sulphur, Chlorine

50D, i a, Q;&_fe&é,@ébaﬁﬁ, Ren6, 85

Carbon, Hydrogen, Nitrogen, Bromine, Oxygen, Sulphur

5630, ERD, RS, RO, 3 yad, DO

Carbon, Hydrogen, Nitrogen, Phosphorus

52630, TPERD, DE'RD,TN0D

Carbon, Hydrogen, Nitrogen, Iodine

4 v 5°0)Q, TERD, RS, OITED

Question Number : 134 Question Id : 7164472534 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following is an oxygen-free alkaloid?

808 ¢3S @38 y23S &5reh e3e) 0N DE?
Options:
nicotine

1. v 28OS

cocaine

2. % 589

caffeine

3. % %9

morphine

4. = SUECAS

Question Number : 135 Question Id : 7164472535 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following pairs of alkaloids is antiarrhythmic?

& S0 es0) oG ao0e5” airotdedBans DD?

Options:
Nicotine, Caffeine

1. % DO, 305

Cocaine, Morphine

7 % £3R, TyO

Ajmaline, Quinidine

3 v e925°) 52, S(DED



Atropine, Scopolamine

4 % TN, T TR0

Question Number : 136 Question Id : 7164472536 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following pairs of alkaloids is an antitumor agent?

Sodd EEUETEFDJJELEﬁﬁ A 0ir0edeITg 06 D&E0e57?

Options:
Cocaine, Morphine

1 = £3R, 0y0

Ajmaline, Quinidine

7 % e925°) 9, S(IED

Atropine, Scopolamine

7 « DTN, T TR

Vinblastine, Vincristine

A AEN ARV ISR R S I

Question Number : 137 Question Id : 7164472537 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following compounds has six-membered rings with two different heteroatoms?

208 maajévaomesﬁ D6 Botsd :.-‘36:5:13 0 esererdd ?oég 200239 ﬂoﬁg £00 Sotod?

Options:
Piperazine

1. = Doodd



Dioxane

9 u BOTEN

Dithiane

3 & GO

Morpholine

4 » Eflj“ﬁ;jﬁﬁﬁ

Question Number : 138 Question Id : 7164472538 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The number of isoprene units present in linalool (present in lavender) is:
DdereS (rdocl &oll) &° &) e 30D 0a:

Options:
one

1. = 2.8

two

? Dot

three

four

Question Number : 139 Question Id : 7164472539 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following alkaloids serves as an adenosine receptor antagonist?
Bob Ej'EJETE'_FDJJ{;.,E‘jé DD RSHS TrErs DB (BP0 e50erhDP ) HIADIr0?

Options:



Cafteine

1. v Sam

Cocaine

2. » BED

Quinidine

Afropine

4. = AT

Question Number : 140 Question Id : 7164472540 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which is the major product in the following reaction?
& 800 DAV VTS ET OG0 ID?

A
Ny SOy C

Options:

2. %



CO,CH3

e &

CO,CHj

o

4 v

Question Number : 141 Question Id : 7164472541 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which is the major product in the following reaction?

& 300 PASEHS” DI ET OG0 IDB?

o 1)Se0, HOAc
Me i) NaOH

o

iii) H,0"

3

Options:

Hooc ©OH
e

=
<
ﬁg

COOH
" OH

e
4
éz



Me
3.
COOH
M€ cooH
1. «

Question Number : 142 Question 1d : 7164472542 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is the required condition for the given reaction?

S08 TOS” VYD BOJED DVCRVND e IO?

OH OH
o
——
Ry, 7 Ty
OH OH

Options:
Photochemical 87 disrotatory electrocyclic reaction

ez 81 AT B0d JoFnIS Bosr LS (HBSo)

Photochemical 8w conrotatory electrocyclic reaction

T'e’3056 87 == Fe300 0SS 03 ED(DAD0S)

Thermal 87 conrotatory electrocyclic reaction

3 (085 8n e300 o}ﬂg’ggé 81 £ (D305



Thermal 87 disrotatory electrocyclic reaction

A @0Le5 81 ATB00 JOEDES BasraS (HDA0S)

Question Number : 143 Question Id : 7164472543 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the correct ITUPAC name of the following compound.

B0& DDVYFD0 Ay FD IUPAC DA JocdEod.

s

Options:
(2R. 3Z)-6-phenvlhex-3-en-2-thiol

(2R, 37)-6-095+-3-D0-2-Hodred
1 ® g N\J

(2S, 3Z)-6-phenylhex-3-en-2-thiol
9 5 (25, 37)-6- 22g5y -3-25-2-601rS

(2R. 3E)-6-phenvlhex-3-en-2-thiol

(2R, 3E)-6- DRG8 -3-20-2-Hosres
3 ® o :)

(2S, 3E)-6-phenylhex-3-en-2-thiol
4 o (28 3E)-6- 5285y -3-25-2-Ho1rS

Question Number : 144 Question Id : 7164472544 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Identify the major product.

D) GTOTEDY (hodiod.

H OTs
O‘:'j =
—_—
OH

Options:

OTs
, .  OH
3.« O
4. v Q

Question Number : 145 Question Id : 7164472545 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The biosynthetic precursor for the Terpenes is:
B0\ TI0E), LIC3TFR0GENS P O(TTD:

Options:



shikimic acid
1. ® =808 airai

isopentenyl pyrophosphate

2 v DI 0B :gffévf:“:::]

mevalonic acid
3 % 0HG°DE oiréE

a-ketoglutaric acid

4.« @SE°reds odé

Question Number : 146 Question Id : 7164472546 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Identify the major product in the following reaction.

$08 DABCIS” DTN &\ BT ool

1) mCPBA

o
2) BF, - Et,0

Options:

o
2. v



o0

3. %
OH

4, =

Question Number : 147 Question 1d : 7164472547 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

—~ OH

OH
OH
B
OH
OH
il W
OH

Identify the correct reaction conditions for the given three products.

Y

S0 DT ) DIPED GETPNOTPOS) DT DBWIC] AL0GAVD (DBooC.

Options:

A: OsO,, t-BuO H,H O ;
B: AgOAc,1,H O,AcOH ;
w C:1) CF,CO H,ii) H O

A:0sO,, t-BuO H,H O
B: i) CF,CO H,ii) H O*;
7w C:i) PhCO,Ag, L, benzene (8023); ii) aq. KOH



A:AgOAc,1,H 0,AcOH ;
B: OsO,, t-BuO H, H O ;
C:i) CF,CO H, ii)H,0;

A: OsO, t-BuO H,H O ;
B: AgOAc, 1, H O,AcOH ;
C:1)AgOAc, 1, H O,AcOH ;ii) aq. KOH

Question Number : 148 Question Id : 7164472548 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Identify the products A, B, C and D in the following series of reactions.

308 DADCY Zeavees” A, B, C andoin D emrydoreodd mdBoedod.

O
HOﬁOH . PhSP -~
H‘- . pyridine . pyridine @
Options:
M. A ::Z;f.f TIE’“f
e O IR g G ) .
A B C .
1. =
d_b I

Oi; h/ﬂ O OH
S w*‘*‘%’-"ﬁ\] J{ Ok 0TS

v . A B C D



HO. -

X Ly W
A

B R D

3. %
A B & D

4, %

Question Number : 149 Question Id : 7164472549 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The structure of *CgHjgFe’ was first determined by
1. Wilkinson et al

-2

. Fischer et al
3. Erich Hiickel
4. Peter Debye
CipHipFe’ 0308, Do easano D06 D Dgonocserc.od.
1. D) D aboin Qsen
2. 20 S0doin Qamen
3. B8 865
4. D6 &)

Options:
1 and 2

1. « 1a0dosw 2

1and 3
? % 100030 3



1 and 4
3. % 1a0basn 4

2 and 4

A4 = 2 H0doin 4

Question Number : 150 Question Id : 7164472550 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following statements is true for the following reactions?
S08 PAVCIOD 30O PELDOS” IO Da20?

Q.. Ph

HO Ph
hwv
" %ﬁé?\
=
Ph hv
— ™ PhCHO + P
(9]
Q

Options:
both P and Q undergo o cleavage reaction

1 » P 0Bo Qdocr a 8D 01T £5(DDE 565) % S dPEEaD

2.

P undergoes only Norrish type II reaction, whereas Q undergoes only Norrish type I reaction

P 583 0o Il ASC5H Srgdn S°RAapaod, eond Q Joa 650 | DASCIH Argn S°ADBOod

Q gives P by photochemical chair to chair interconversion of the cyclohexane ring

3 % Q 2E3°8D Bof d0E), Do REEEEIGHDH THTTES Bowd oo P D @inod

4. =

both P and Q undergo Norrish type I reaction, but Q gives benzaldehyde through this mechanism.

P a0b0in Q ot 562 5D | DAG;EH &5°Hapmrom, eo0d Q & Iordo Tr(o” BoarQaré @od.



